TRANSPORTATION AGENCY FOR MONTEREY COUNTY REGIONAL WAYFINDING PROGRAM SIGNS CONTRACT NO. 6550.04.RWP

THIS AGREEMENT, made and concluded, in duplicate, between the TRANSPORTATION AGENCY FOR MONTEREY COUNTY thereof, party of the first part, and

STATEWIDE TRAFFIC SAFETY AND SIGNS, INC. (dba Statewide Safety Systems), Contractor, party of the second part.

ARTICLE I.--WITNESSETH, That for and in consideration of the payments and agreements hereinafter mentioned, to be made and performed by the said party of the first part, and under the conditions expressed in the 2 bonds, bearing even date with these presents, and hereunto annexed, the said party of the second part agrees with the said party of the first part, at his own proper cost and expense, to do all the work and furnish all the materials, except such as are mentioned in the specifications to be furnished by said party of the first part, necessary to construct and complete in a good, workmanlike and substantial manner and to the satisfaction of the TRANSPORTATION AGENCY FOR MONTEREY COUNTY, the work described in the special provisions and the project plans described below, including any addenda thereto. and also in conformance with the 2018 California Department of Transportation Standard Plans, the Standard Specifications, and the Labor Surcharge and Equipment Rental Rates in effect on the date the work is accomplished, which said special provisions, project plans, Standard Plans, Standard Specifications, and Labor Surcharge and Equipment Rental Rates are hereby specially referred to and by such reference made a part hereof.

The special provisions for the work to be done are dated August 19, 2021, and are entitled:

TRANSPORTATION AGENCY FOR MONTEREY COUNTY
NOTICE TO BIDDER AND SPECIAL PROVISIONS FOR
REGIONAL WAYFINDING PROGRAM SIGNS
IN MONTEREY COUNTY, CALIFORNIA

The project plans and specifications for the work to be done are dated August 17, 2021, and are entitled:

TRANSPORTATION AGENCY FOR MONTEREY COUNTY
PROJECT PLANS FOR CONSTRUCTION OF
REGIONAL WAYFINDING PROGRAM SIGNS
IN MONTEREY COUNTY, CALIFORNIA

ARTICLE II.--The said party of the first part hereby promises and agrees with the said Contractor to employ, and does hereby employ, the said Contractor to provide the materials and to do the work according to the terms and conditions herein contained and referred to, for the prices hereinafter set forth, and hereby contracts to pay the same at the time, in the manner and upon the conditions herein set forth; and the said parties for themselves, their heirs, executors, administrators, successors and assigns, do hereby agree to the full performance of the covenants herein contained.

ARTICLE III.--The State general prevailing wage rates determined by the Director of Industrial Relations are hereby made a part of this contract. It is further expressly agreed by and between the parties hereto that should there be any conflict between the terms of this instrument and the bid or proposal of said Contractor, then this instrument shall control and nothing herein shall be considered as an acceptance of the said terms of said proposal conflicting herewith.

ARTICLE IV.--By my signature hereunder, as Contractor, I certify that I am aware of the provisions of Section 3700 of the Labor Code which require every employer to be insured against liability for worker's compensation or to undertake self insurance in conformance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

ARTICLE V.--And the said Contractor agrees to receive and accept the following prices as full compensation for furnishing all materials and for doing all the work contemplated and embraced in this agreement; also for all loss or damage, arising out of the nature of the work aforesaid, or from the action of the elements, or from any unforeseen difficulties or obstructions which may arise or be encountered in the prosecution of the work until its acceptance by the TRANSPORTATION AGENCY FOR MONTEREY COUNTY, and for all risks of every description connected with the work; also for all expenses incurred by or in consequence of the suspension or discontinuance of work and for well and faithfully completing the work, and the whole thereof, in the manner and according to the plans and specifications, and the requirements of the Engineer under them, to wit:

ARTICLE VI. —Contractor also agrees that any and all proposed adjustments or changes to the aforesaid work must be in writing, and reviewed and approved in writing by the party of the first part. No such adjustment or change shall be effective without the express, written, and dated signature of the authorized TRANSPORTATION AGENCY FOR MONTEREY COUNTY designee. Further, no proposed adjustment or change that has the cumulative effect of exceeding the amount previously authorized as a contingency shall be permitted without prior approval from the TRANSPORTATION AGENCY FOR MONTEREY COUNTY Board of Directors.

Bid Item List

Item No	Final Pay Item	ltem	Estimated Quantity	Unit of Measure	Price	Item Total0
1		Mobilization	1	LS	\$ 68,950.00	\$ 68,950.00
2		Furnish and Install Sign Topper, Type 1 (Full Color)	580	EA	\$ 76.00	\$44,080.00
3		Furnish and Install Sign Topper, Type 3 (Bike Symbol Only)	35	EA	\$ 112.00	\$ 3,920.00
4		Furnish Extra Sign Toppers, Type 1 (Full Color)	300	EA	\$14.80	\$4,440.00
5		Furnish and Install Sign Panel, D11-1	300	EA	\$ 100.00	\$ 30,000.00
6		Furnish and Install Sign Panel, D11-1c	55	EA	\$ 100.00	\$ 5,500.00
7		Furnish and Install Sign Panel, Direction/Confirmation	1,000	SF	\$46.00	\$ 46,000.00
8		Furnish and Install Supplemental Plaque, 12" x 9"	200	EA	\$ 76.00	\$ 15,200.00
9		Remove Existing Roadside Sign	10	EA	\$100.00	\$ 1,000.00
10		Modify Existing Sign Assembly	30	EA	\$ 120.00	\$ 3,600.00
11		Sign Post, Wood 4" x 4"	200	EA	\$ 350.00	\$ 70,000.00
12		Sign Post, Galvanized Pipe	280	EA	\$ 410.00	\$ 114,800.00
13		Sign Post, Telespar	100	EA	\$ 450.00	\$ 45,000.00
14		Paint Sign Post	15	EA	\$ 300.00	\$ 4,500.00
	\$ 456,990.00					

IN WITNESS WHEREOF, The parties to these presents have here-unto set their hands the year and date first above written

STATEWIDE TRAFFIC SAFETY AND SIGNS, INC.

Ву:	By:				
	Jon Lang Sr, Printed Name		Marty Breen Printed Name		
	Vice President / COO Title		Secretary / Treasurer Title		
Date:		Date:			
Licens	sed in accordance with an act pro	oviding for the regist	ration of contractors,		
Licens	se No. <u>975518</u>				
Feder	al Employer Identification Numb	er: <u>46 - 0606069</u>			
т	RANSPORTATION AGENCY FOR I	MONTEREY COUNTY	1		
Ву:	Todd A. Muck Executive Director	Date: __			
full leg If Cont of a p contra	gal name of the corporation shall be tractor is a partnership, the name o partner with authority to execute t	set forth together wit of the partnership shal his Agreement on be	liability and nonprofit corporations), the h the signatures of two specified officers. I be set forth together with the signature half of the partnership. If Contractor is th the name of his or her business, if any,		
	* * * *	* * * * * * * * * * *	* * * *		
Appro	oved as to form:				
		Date:			
TAM	C Counsel				